fl) =x° (x - 3)?

The function f has three stationary points. Find the x coordinates of these points

fO) =x° (x—3)?

g(x) =x* h(x) = (x — 3)?
g’ (x) = 3x* h(x)=2-1(x-3)!
h'(x) =2(x—3)

flx)=g)h'(x) + g'()h(x)
fl(x)=x3-2(x—3) + 3x%(x —3)?
fl(x) =2x3(x —3) + 3x%(x —3)?

fl(x)=x%(x—-3)2x) + x%(x—3)3(x—3)
fl(x) = x%(x —3)(2x + 3(x — 3))

fl(x) =x*(x—3)2x+3x—9)

f'(x) = x"(x —3)(5x = 9)

x?(x=3)5x—9)=0
x>=0,(x—3)=0,(5x—-9)=0
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f(x) = g()h(x)
f'x) =g () + g'(x)h(x)

d
U@ =n-f')-f]"

Stationary points occur where
f'(x) = 0. Factorise f'(x)

Stationary points occur where

f'x)=0



